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Science in Motion

Juniata College




Slide 1.   Spirogyra, an alga. (175x).   

Slide 3. Gonium (450x).                                         
A. What person first viewed pond life under a

A.  Based on color, is Gonium a plant-like alga or a microscope?_______________________.

is it animal-like?________________.
B. What is the green pigment in the cells?

B. The basic, stripped-down Gonium is composed
__________________.




of how many cells?____________.

C. How do you think this organism got its name?

C. Why do you think it is that Gonium colonies are
______________________________.


always composed of even numbers of cells?







___________________________________.
D. Is this strand a single cell, or is it 

composed of many cells?________________. 

D. Draw Gonium.  Label the cells 
E. Draw Spirogyra.  Label the cells and chlorophyll..

Slide 2. Euglena (500x).



Slide 4. Volvox (150x).
A. If Euglena is kept in the dark what  


Volvox is an alga, not an animal as given in your
will happen to its chlorophyll?



booklet!
___________________.



A. What do Gonium and Volvox have in common?







_________________________.
B. What can Euglena do

that causes biologists to call it a



B. What are the small spheres inside the Volvox
part-time animal?________________                     
colony?_______________________   
________________.




C. You can see many tiny hair-like processes







on the surface of Volvox.  What do you think they
C. Draw Euglena.




are used for?_____________________.







D. Draw a Volvox colony.







Label the cells and







hair-like processes.
Slide 5. Bladderwort (5x).




Slide 7. Didinium eating a








Paramecium (175x).
Bladderworts are multi-cellular plants that 



have many small bladders that let them float.


Paramecium and Didinium are one-celled









animals called protozoans.  They move by
A. Plants get nitrogen through their roots, but bladder-

means of tiny hairs called cilia.
worts do not have roots.  How are they able to get

nitrogen?_________________________________.

A. Which is the predator, Paramecium








or Didinium?_______________.
B. Draw the bladder of a bladderwort.


 








B. There is a fringe of large _________








around the mouth of Didinium.

        







C. Many protozoans reproduce by dividing








in two.  If Didinium always divides after 








eating two Paramecia, how many Didinium








will there be after six Paramecia have 








been eaten?____________.








D. Draw the Paramecium/Didinium slide.


Slide 6. Cyclops (10x).

Cyclops is a small arthropod that is very

common in ponds and lakes.  It feeds on 

tiny organisms such as Euglena and Gonium.


 
A. What large animals depend on Cyclops as a



major part of their food supply?____________.











Slide 8.  Hydra eating Daphnia
B. Many arthropods have antennae on their heads. 

(25x)
Does Cyclops have antennae (look to the left of



the animal).___________.




Hydra is a primitive animal related to jelly-








fish that captures prey by means of stinging








cells on its tentacles.
C. Draw Cyclops.  Label the antennae, legs, and



tail bristles.   






A. What is the Hydra doing to the Daphnia?      







__________________________________. 


















B. Daphnia is related to what other animal








in these microslides?_______________.








C. Hydra reproduces by forming a bud on









the side of the original animal.  Draw the









Hydra/Daphnia slide.  Label the Hydra








tentacles, mouth, and bud.



ANSWER THE FOLLOWING QUESTIONS FROM THE MICROVIEWER SLIDES OR THE ACCOMPANYING BOOKLET.





Names/s_______________________


Period____________


Date_____________
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